[ Efficiency vs vertpos |

-
o
o
(]
>
»
>
>
o
c
[

)
=
)

Ratio

0.2

0.04
0.02

018}-~~~~@ ------------ ; ............ E ............

o16}-~~~~f ------------ ; ............ ; ............

| RS H S A

T R H
91 1) SO

0.08F--------- fennes :

0.06f :

10
1.

1

II.I.’.FI_IIIIIIIIII!IIJIIIIIlI
h e

1

,

A

-

n

;

soooHooml] P
__‘_n. 3
= . W

—

:

1

1

i

T

+-

+

0.9 :
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_mKFit_TT_base

Effici —e— DQM_mKFit_TT_retrain_noCandDNN
ICIeNd __,__ DQM_mkFit_TT_retrain

N
-
=
)
>
n
>
>
5
c
o

e
=
)

0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02

0.0

930 20  -10 0 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

20.07
>

[S]
c
()

=
£
3]

Ratio

0.1
0.09
0.08

0.06)
0.05
0.04
0.03
0.02
0.0

..................................................

..................................................

.............................

104

iy

5571 505100 1520

Sim. PV z (cm)



	Contents
	Page 1


